F44E BREAHTEFEILEHYH—KE (227 D)
FFA U108y H—U—5 i nBRAFY—LY—52021  FBOEAEHHEFAEAS
(Rir#A) — 4]
F—L% |mEM| B2 B | EE |Pur-o Bt | 7RX—[caweong|La—#| KB [roen| gk (Ba| B | 8 | & |88 &x| 8% | E®
® | O ® | O 6 6| & & O~
06 | 15 16 | 07 [ 07 | 05 | 14 o7 |22 ' | Q|11 1|6 |69]63]12
) O [ O ® | ®© | | A | O ® O
ME 40 10 | 30 o1 | 06 | 07 | 00 | a1 [ o2 [a0] 10| 5|68 |1 [25[26|-1]7
O O 0 O @€ A| O] O ®] O
STG 70-1 13-0 10| 32 | 00 | 10| To0 | 12 | Teo 28| 9| 2| 1|9 7|+83] 3
O e 0 Ol ®@| e o]0 ® ] O
F H 60 | 01 110 | 18 | o1 | 40 | 50 | 02 |70 2" 7| 9| 0|52] 9 |+43] 6
- O @ O ®| @€ A | ® | ® | O
E X 51 | 03 | 0 014 | 22 [ 03 | 06 [ 6o 03[ 8|1 [15/65/-6010
Jyr—35 21 O 1@ S OO AT O oz 7|41 |30|12]+18]5
— OO0l e e e ® | O] O ® ] O
F i 61 | 10 | 011 | 011 | 12 a1 | 42 [ 13 [ 50| °| 2| 7| 0|21 |%0|-29| 8
A OO0l O0O] O] O OO0l O] O
FA—®M [ 55160 [ 21 | 3 12-0 20 30 [ 60 [0 33| 11| 1] 0|67] 4 [+63] 2
O] O 2 0] O 9] Ol o] O] O
CAMPIONE | 5130 00 | 10 | 140 70 o Tl 3411 o 1|72 2]|+70]1
Li—% [ S A& 121814 L] Ao lola|7|3]|13|38]25]r11
KE CHE R RE RS s 2 O lya{a|8|0|2/45|-25]09
thgh o212 1010 oL 26| 82| 2]4]14]+20] 4
- Al ®©] @] ®© | @ ® | o
RE 22 | 0-13 | 0-16 | 0-17 | 06 05 | 0-11 1o 221013
No | BRE ol 33 xE W= pat 4 =EF wmyE
mig| 1] 900 STG 2 - 1 BH KR S FHE 0 - 10 7X—&mM | CAMPIONE | LA—=%
2| 940] BEEM. 0 - 4 HE STG [525] FYA—35 0 - 3 CAMPIONE FHi b =1
3 [10:20 (325 11 -0 Pt REM. HE =hEMN 12 - 0 KK 71 A—5 | CAMPIONE
4 [11:00] mEEM. 1 -5 EiF L2 0] P STG 1 - 2 FRA—BRA| f=hb&h KK
4;’2%? 51140 kKB 2 - 3 fhbh TR REM. | JUA—=5 1 - 0 LA—=% |7X—8@ STG
™ 16 [12:20 HE 3 -0 EiF KR =hEn [525] 1 -3 FRA—BRA| LA—% | FUr—5
7 [13:00 STG 11 -0 P HE EiF CAMPIONE 8 - 0 L#A—=x (525 7 A—ER
8 [13:40 KR 4 - 0 KK STG PH
o | 1| %00 STG T - 2 f=héh HE 7X—@m | B=EM_ 0 - 7 CAMPIONE P LA—%
290l FYA—=F 2 - O P STG T=hh&h (525 6 - 0 EiF AEM. CAMPIONE
3[10:20] HEM. 0 - 7 f=hd&h | TUA-5 P FA—&R 4 - 0 LA—=F IR BH
411000 FYA—=5 7 - 0 kR T=hh&h =M. STG 0 - 0 CAMPIONE | 7X—&M LA—=x
Rflslireo] mE 0 - 0 LA—% | kR [JUA—5| ®mE 6 - 0 A | CAMPIONE | sTG
176 [12:20 FH 4 - 2 KR LA—=x HE CAMPIONE 2 - 1 f=h&h R®RK EIF
711300 RREM. 1 -10 STG FH XER (525 17 - 0 [/, /N f=hv&h CAMPIONE
8 [13:40 e 0 - 6 FA—EH AREM. STG P 3 -1 LA —=x (528 KK
3| 1] 900 EiF 0 - 6 f=hdh |[7X—FHE| 7X—5H
2 |10:10 EE 1 -0 B+ LA—x LA—x IR 0 - 12 7RA—BR | =h&h PN
6?;%5 3lios0] LA—% 2 - 0 KA HE TR
41130 FA—&EE 6 - 0 f=hrEdh EiF AEB
5 [12:10 HE 13 - 0 KK (3251 AER EiF 2 - 2 LA—x |7RA—B@A| t=hb&h
wagg| 1| 900[ REEEM. 0 - 6 FYUA—=5| 7X—=R | CAMPIONE STG 16 - 0 ®KK =hé&h LA—=
2| %40 FX—mME 3 - 0 KR TY A= MEM. LA—x% 2 - 2 I=héh STG KK
3 [10:20 STG 5 -0 FUA=5 kR 7 A—&E =M. 2 - 2 KA LA —=x PN
6’;‘;5 4 [11:00] CAMPIONE 5 - 1 KR STG FA—=5
5(t140] 7Y A= 7 - 0 /S CAMPIONE KR STG 11 -0 LA—=* MEM. AR
6 [12220] 7X—& 0 - 1 CAMPIONE [/, TY A=
o | 1] 900 PH 1 - 3 f=bhé&h HE &R EIF 0 - 4 FYUA=5 AEM. 7 XA—&H
2 | 940 mE 3 -1 KR P =h&h AEM. 0 - 7 7RX—=MH EIR TY A=
31020l FYA—=5 0 - 0 F=bb&h HE KR
er2om| 4 [11:000 REEEM. 1 - 6 P f=hEh | TUA-5 ER 0 - 3 KR LA —%x A&
a7 [ 5[11:40 BE 0 - 2 T=héh AEM. PH
612200 Y A= 1 - 3 FX—F@E| E=hEHL mE LA —x 1 - 3 KR CAMPIONE EF
7 [13:00 HE 0 - 1 P TYA—5 | PRA—EME EF 0 - 14 CAMPIONE KR KR
e[ 1] 9:00 E 1 -1 STG BH TYA=5 FH 0 - 7 CAMPIONE | 7X—=M KR
2| 9:40 B+ 1 -0 FYA=5 HE STG AEM. 1 - 4 KR FPH CAMPIONE
3 [10:20 TR 2 - 1 FPH STG XE CAMPIONE 17 - 0 KK AMEM. KR
78108 | 4 [11:00 STG 13 - 0 KR TR P AEM. 0 -5 LA—=x CAMPIONE KK
Kl | 5 [11:40 FH 5 -0 KK STG CAMPIONE i 0 - 2 FUrA=5| LA—=x REM.
6 [12:20 STG 13 -0 EIR G S [3Z 5] 5 -0 3] TYA—=5 S
7 [13:00 S 0 - 7 CAMPIONE P TR FA—EE 11 - 0 KK XkER B
6A26E| [15:00 (3% 5] 6 - 0 AEM.
6A278| [12:30 [52 5] 4 - 0 LA—=F 13:20 [5Z3] 0 - 2 f=hé&h
7H5H 19:00 [5LE] 0 - 1 CAMPIONE




